-@- \verb|HLT_part_Z0-sig0.110000-alpha-1.99|
-®- \verb|HLT_part_Z0-sig0.110000-alpha0.00|
-®- \verb|HLT_part_Z0-sig0.110000-alpha2.00|

0.4+

o
s
>

\verb|rho—-th9.5|

=

0.2 + +

-3 -2 '
\verb|log10(A/AQ)_ref]



-®- \verb|HLT_part_Z0-sig0.130000-alpha-1.99|
-®- \verb|HLT_part_Z0-sig0.130000-alpha0.00|
-@-Y\verb|HLT_part_Z0-sig0.130000-alpha2.00|

0.4+

\verb|rho—-th9.5|
o
w
=
e
=
=
=
8 =
=
o
—a—
——
R T
——
—a—
—e
1lg—
—=—
-
---
..9..

0.2 L]

0.1+

-3 -2 1
\verb|log10(A/AQ)_ref]



-®- \verb|HLT_part_Z0-sig0.500000-alpha-1.99|
-®- \verb|HLT_part_Z0-sig0.500000-alpha0.00|
-®- \verb|HLT_part_Z0-sig0.500000-alpha2.00|

0.8+

0.7+

\verb|rho—-th9.5|

o
o
——o
—_——
—b—_
—p—
—p—

0.5+

-4 -3 -2 -1
\verb|log10(A/AQ)_ref]



